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2.

Al oA A = 2x% - xy? +3%, B = =2xy° +2)°.C = * +y* |
diste] (24 - B) + C & Altsta?

@D 2x3 — 4x%y + 3y? @ —x3 +2x%y -3
@ 2x3 + 4x%y — y? @x3 +4x%y 43
® x3+ 43

(2A-B)+C
= 4x%y — 2xy? + 2y% — (—2xy% + 2y%) + 13 + )3

(24— B) + C
= x5+ 4x?y +y3




® x2y°

(@)—x5y4 @ —xy®

@ xy°

@) —x4y5

xy(-xy)? = 22y (-xy%) = —x°y*




4. (x-2y-3z)*& A xoll tiet WAz o2 gfsta?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°




5.

1999 x 2001 o] 3t ote] & uff, 714 4

@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab

]
=

o
mm

1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12




6. (-3x2+3x+4)(x* +2r-5)F AT Aol A x22) A Foh?

® 10 @ 15 ® 19 @ 21 @25

S5 1
AN A x2 32
i) (o1 x (AFAF) ol A 15x2 + 4x2 = 1952
i) (EAFH)x(LAFE) oA 6x2
L2 AFE19+6=25




T xty=4, 0 =32 - ay+y? o G Fotelet
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P —xy+y=(x+y)>?-3xy=7




O 2 @ -2 @ -2x-2

x3—2_x3—2x+2x—2_x 2x—2
2-2 x2 -2 B x2 -2
S x, A= 2x - 2
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(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?

R

(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*




10, xof et ohA] &3 +ax® + bx +2 5 2% —x + 1 2 e Y7t
x+30] HEFa, b FE FL W, ab S F5toizt

> &

> HE: ab=-6

B ‘
RPN
Pra®+bx+2=x*-x+1)-A+ (x+3)
A=(x+p)
WBra?+bx+2-(x+3)=(x*-x+1)(x+p)
Bra+b-Dx-1=(x-x+1)(x-1) ~p
g9e Gt

a=-2,b=3
s.ab= -6

==l




11. oA 2x% + bax — a? & T4 P(x) & UYe %°] x + 3a, UHHZ[7}
2a> 4 o, oFFA] (x + a)P(x) & HEPH A7

@ x2 4+ 2ax - 242 @ x2-a?

® 2x% + 3ax+a? @ 2x% - 3ax —a?

©2x2 +ax —a?
D 1

2x2 + bax — a* = P(x)(x + 3a) + 24* 0| B2

P(x)(x + 3a) = 2x* + bax — 3a®

wrebA] | o] P(x) = 2x2 +5ax—3a%? S x+3a 2 Uie O] B2
P(x)=2x-a

“ (x+a)P(x) = (x+a)(2x—a)

=2%% 4+ ax —ad?




12.

A f () B xt g 02 PGS W, BT URAE 0 (x), R AT

gteh o] W, £ (x) € 3x + 1 22 e 53 YA E F5tH?

® Q(x), R @ 30(x), 3R ® 30(x), R
1 1
@ 30(). R ® 30(), 3R




13, x+y+z=1Lxy+yz+zx=2,xz=34 W, x+1)(y+1)(z+1)
o] kg ot

> E:

> ™eh: 7

(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7
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14. o= A oA &4 2 A

o

1=m?

rlo

(a+b+c)?=a®+b>+c? + 2ab + 2bc + 2ca

(a+b+c)(a®+b*+c?—ab—bc—ca) = a® + b3 + ¢® — 3abc
(a+b)? = a3+ 3ab + 3ab* + b3
(

a-b)?=a®-3a?b + 3ab® - b*

@ e e e e

(@*+a+1)a®>-a+1)=a*-a®>+1

@ @+a+)(a®*-a+1)=(a®>+1)?-d?
=a*+a’>+1




15. Al Asab,col Hotd a+b+c =2, a2 +b*>+c? =6, abc = -1
A o, a® + b3 + 2 9 F2?

@11 @ 12 ® 13 @ 14 ® 15

B ~

(a+b+c)?=a%+b?+ 3+ 2(ab + be + ca)
ab+bc+ca= -1

a+ b+ 8

= (a+b+c)(a®+b?+c?—ab - bc - ca) + 3abc
—2x(6-(-1))-3=11




